

**Calcolare le seguenti espressioni**

- $1 \text{ AND } 0 =$
- $1 \text{ OR } 0 =$
- $0 \text{ XOR } 1 =$
- $\text{NOT } 0 =$
- $\text{NOT} ( \text{NOT } 0 ) =$
- $(\text{NOT } 1) \text{ XOR } 0 =$
- $1 \text{ AND } (\text{NOT } 0) =$
- $1 \text{ AND } (1 \text{ XOR } (\text{NOT } 1)) =$
- $0 \text{ OR } (0 \text{ AND } 1) =$
- $0 \text{ XOR } (0 \text{ AND } 1) =$
- $1 \text{ XOR } (1 \text{ OR } 0) =$
- $(0 \text{ OR } 1) \text{ AND } (1 \text{ XOR } 1) =$
- $(0 \text{ OR } (\text{NOT } 0)) \text{ XOR } (1 \text{ AND } (\text{NOT } 1)) =$
- $(0 \text{ XOR } (\text{NOT } 0) ) \text{ AND } ( 1 \text{ XOR } (\text{NOT } 1) ) =$
- $\text{NOT} ( ( 1 \text{ AND } 1 ) \text{ XOR } ( 0 \text{ OR } ( \text{NOT } 0 ) ) ) =$